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QUESTION 1

Which two are requirements when booting from SAN? (Choose Two)

A. The Storage Array port WWN specified in the BIOS configuration of the HBA must be passive
B. The HBA should be plugged into the lowest PCI bus and slot number

C. The boot LUN should only be visible to the ESX Server that is booting from it

D. The boot LUN should be visible to all ESX Servers for HA failover

Correct Answer: BC

QUESTION 2

An administrator has configured a vSphere Distributed Switch to send all network traffic to a collector virtual machine for
analysis.

However, after checking the collector virtual machine several hours later the administrator finds that no data has been
collected. vSphere 5.x has been deployed in the datacenter. Which two items below could be causing this issue?
(Choose

two.)

A. The source virtual machine does not have Promiscuous Mode enabled.

B. The source and target virtual machines are not both on the same vSphere Distributed Switch.

C. The port group or distributed does not have Promiscuous Mode enabled.

D. The port group or distributed port does not have NetFlow enabled.

Correct Answer: BD

QUESTION 3

Click the Exhibit button. Based on the exhibit, what is the appropriate action to set a preferred path?
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A. Paths cannot be set to preferred on this array.

B. Right-click the path you want to prefer and then select Preferred.

C. Right-click the path you want to prefer then select Active.

D. Double-click the new path you wish to prefer. The other existing paths will be set to Standby.

Correct Answer: A

QUESTION 4

Which two conditions will cause a vMotion validation check to fail? (Choose two.)
A. An active connection that matches an existing port group label on the target host
B. Insufficient network bandwidth on the target virtual switch

C. Different security policies on the target virtual switch

D. An active connection to an internal virtual switch

Correct Answer: CD

QUESTION 5

An administrator is using Update Manager 5.x to update virtual appliances in a vSphere environment. The environment
is using the vCenter Server Virtual Appliance (vCSA). What would cause the remediation to fail?
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A. Updating of the appliance can only be done if the vCenter Server Virtual Appliance (vVCSA) has been put into
Maintenance Mode.

B. Remediation must be configured on the Appliance Administration page before use.
C. Remediation of the vCenter Server Virtual Appliance (vCSA) with Update Manager is not supported.
D. Remediation requires the hosts to be connected to vCenter using an IPv4 address.

Correct Answer: D
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